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QUESTION 1

Which two are requirements for Kubernetes cluster virtual machines when leveraging vSphere Cloud Native Storage
(CNS)? (Choose two.)

A. configure UEFI firmware

B. Set the Disk Mode to Independent

C. set the disk.EnableUUID advanced setting to TRUE
D. virtual machine hardware version 15 or higher

E. minimum of 4 vCPUs per node

Correct Answer: CD

Reference: https://docs.vmware.com/en/VMware-vSphere/6.7/Cloud-Native-Storage/GUID-BA795112-AFC4-4FCB-
B5A6-1ACDCAB79EDS.html

QUESTION 2

A customer environment includes:

4-node VSAN cluster

5 SQL servers with an OS virtual disk and database virtual disk
Current policy uses the vSAN Default Storage policy

A VSAN administrator has created a new policy with fault tolerance method of Erasure Coding with Failures to tolerate
equal to 1. The administrator will apply this new policy to the OS disk only.

Considering this scenario, which two statements are true? (Choose two.)

A. The policy can\\'t be applied as there are not enough nodes to comply with the policy.
B. The object tree will have to be rebuilt when the policy is applied.

C. vVSAN policies can only be applied to entire VMs.

D. This policy will require additional transitional space, until all objects are recreated.

E. The policy will result in size reduction and only will require 1.5x space instead of 2x.

Correct Answer: BD

QUESTION 3
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An administrator is tasked with expanding an existing 2-node vSAN cluster at a remote site to meet the increasing
storage capacity requirement by 30%. The existing cache is underutilized. Which solution provides the best
configuration that maximizes existing ROI?

A. Scale out two more nodes.

B. Add capacity drives to existing disk groups.

C. Scale out one more node.

D. Replace all cache and capacity with larger drives.

Correct Answer: B

QUESTION 4

An administrator arrives at work and begins their morning checks on a four node, all-flash vSAN Cluster. They notice the
VSAN datastore reached 99% capacity due to a single node failure. How can the administrator provide temporary

relief?

A. change FTT=1 with RAID-5 (Erasure coding) to FTT=1 with RAID-1 (Mirroring)

B. change FTT=1 with RAID-1 (Mirroring) to FTT=1 with RAID-5 (Erasure coding)

C. change FTT=1 with RAID-1 (Mirroring) to FTT=0 No data redundancy

D. change FTT=1 with RAID-5 (Erasure coding) to FTT=0 No data redundancy

Correct Answer: B

QUESTION 5

An administrator would like to put a vSAN host in an existing vSAN Cluster in maintenance mode. vMotion is configured
and DRS is set to Fully Automated and all other advanced settings are their defaults.

The administrator uses this PowerCLI command:
Set-VMHost -VMHost "esxi-host01.corp.local" -State "Maintenance"
What is the default behavior?

A. Virtual machines will be live migrated and all storage objects residing on this host will migrate to another host that is
not in maintenance mode.

B. Virtual machines will be live migrated to another host not in maintenance mode and storage objects will be migrated if
it is required to be accessible.

C. Virtual machines will be live migrated to another host not in maintenance mode and storage objects will not migrate
regardless of policy and state.

D. Virtual machines will not be live migrated to another host not in maintenance mode and storage objects will be
migrated if it is required to be accessible.
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Correct Answer: A
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